TOPPERZ @ WORK EDUCATION CENIRE ?V

Class: CBSE XI Topic: Trigonometry
Subject: Mathematics Time: 60 Min
1.

Prove that

sin” 6x —sin” 4x =sin 2xsin 10x
[4 marks]
2.

Prove that

sin2x+2sindx+sin6x =4cos” xsindx

[4 marks]

3.
Find the general solution of the equation sec’ 2x=1—1tan2x

[4 marks]

4.

Prove that in any triangle (b-c]cmé+{c-a}cm§+ {a—5h) cm% =

[6 marks]

5.
Ina ABC prove that a(cos B + cos C )=2(h+ c-}sinzg

[4 marks]

6.
Find the general solutions of the equation sinx+sin3x + sin Sx=10.

[4 marks]

7.

Find the value of tan HTE [1]
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8.
Prove Cos4x=1-3Sin? x. Cos?x [1]
9.
Cos (m+x) . Cos (-x 5

Prove ( ) ; ) =Cot™ x

Sin (r-x). Cos (E+x]
[1 mark]
10.

Cos 11"+ Sin 11"
Cos 11" -Sin 11"

Prove that tan 569" =

[1 mark]




